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Class XI Examination, 2019
COMPUTER SCIENCE
( Optional )

Full Marks : 100

quies : . 100

Time : 3 Hours
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GENERAL INSTRUCTIONS / AT T :

Write your Name, Roll Code, Roll No., Registration No., Date of Exam.,
Sitting, Faculty and Name of the subject on the OMR Answer Sheet in the

space provided. Put your Full Signature on the OMR Answer Sheet in the.

space provided.
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2. There are 50 Multiple (_'.‘hoiée Questions in all.
el 50 Tg-Faeda e €
3. Al questi@ns are compulsory. Eacl;u question carries 2 marks.
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4.

Four options arc given for each ;:lucstiun numbered 1 to 4. Choose the

correct option and indicate it by blackening the appropriate circle [  Jin

the OMR Answer Shect given scparately. Use only Bluc/Black _Bali-Poim

Pen. The use of Pencil is not allowed.

Hﬁﬂ?mﬁmﬁw(iﬁ«q)ﬁﬁnﬁ% | 5§ W e A T ST §
ﬁ&@omnmmm_mﬁmﬁqﬁmmh]maﬁq&maﬂﬁﬂ | e A
P HA-WRE Hetd 7 8 wahT ¥ | Feer ST WErT afam 3

Before leaving the examination hall hand over the OMR Answer Sheet to

the invigilator. You are allowed 1o take the question paper with you.

qﬂwﬂaﬁtﬁsﬁﬁWﬁOMRaﬂtmaﬁwaﬁﬁmfﬁﬁ |u‘ar=i-qaamam=‘r_

Y ™ W WEA §

Adhere (o the instructions above very carefully othenwise your
OMR Answer Sheet will be invalid and it will not be evaluated.

S afvr Rt &1 aEgds aee st
JAGAT ATYHT mmmﬁmmwﬁﬁaqﬁiﬁm&rﬁ |
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The brain of the computer is the |

(1)  Control Unit . - (2)  ALU _

(3) CPU : ' {4) Al of these.
FGY i WA §

(1) w2 e | (2 ALU
J3) cpu (4 T a e

The first commercial computer delivered to a business client is

(1) UNIVAC (2) ENIAC

(3} EDSAC (4) None of these.

Pt RIS e @) Y WUW S FEGE €

(1) UNIVAC (2) ENIAC
\[}) EDSAC (4) 799 | FI 78l |

Magnetic tapes, floppy disks, optical disk, flash memory and hard disks

arc examples of

(1) | Primary memory (2) Auxiliary memory

(3} Cache memory ‘ '\(/4] Flash memory.
I E | | .
) s ot | 2 weEs S
@) &9 Al @) o A
: A compL'ltcr language isé’are -
(1) Machine language (2) Assembly language
' v[‘31 High-level language . {4) Allofthese.

(X1)-40056 . - o 3 of 16
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TIGIT I VT
(1) =i s ' (2) R W0
(3) #E-Faer v @ AW
. 5, Thc'symbol that is represented using rectangle in a flowchart is
(1) Terminal (2)  Deccision
(3)  Activity/Process : (4)  Input/Output.
Fﬁm‘tnﬁ’rméﬁmw%ndmmﬁmﬁmf?ﬁ- g -
(1) HEEE (2) fefasA
(3 et e (4) TR/ TR
6. In C++ every statement ends with
(1) colon (3) (2) comma (,)
(3) . scmicolon (i) ' (4)  dot (.
C++ ¥ Uede FYT T 3fd ¢@ ¢
(1) =HEAEE (2) ()W
K& e (3) d 1) = () [
7. A sct of logical operators is )
(l] .= 'I/I Yo {2) =%, PR, fF ES, =
(3) &&, |1 4) 2:
AR I I Th Fead €
(1] +|| ™ 'Jj: O/D \9) >, %, >=- <=, BmE, 0=
(3) &&, |1, ! (M 2
8. In C++ programming stremp () function is used for
(1) converting String to Char {2) copying two strings
(3) comparing lwo strings (4) none of these,
|{x1)-40056

4 of 16 -



. 10.

11.

@ XSC.CMS-[Opt.}-§C_
. Scionce/Commerce |
++ SrmfE # stremp () e T AT g &
(1) o et aser & o (2) ﬁfi—gﬂaﬁwﬂmﬁ#ﬁq

@) 3 i t gqer & foe @) ¥ = =

In C++ programming ‘\a’is used for

(1) " Form feed (2) Line Brake

(3) Selcct All h 4) Alarm.

C++ WP § \a’ T WM g & )
(1) M w8 % few | (2) oA ¥w & faw

(3) o #iiw & g @) e &

Which of the following is the correct statement ?
(1) Variable name must start with underscore
(2) Variable must have digits

(3) Variablé*n’amc'rnust have white spacc

(4) Keyword cannot be a variable name.

o ¥ W -9 U WEE 2

(1) SRues A Evd FSTEHR & G & T e
[zj qumﬁwﬁ%

(3) aﬁ-qaaqmamgaﬁzmmmaﬁa

(4) WS His Aftgaer A @ & FEa

Which of the following is not the typc of variable ?

{1) Extern . (2) Register

[3) Global ) , N 3 None of these.
ey @ 61T UF GREd & Wh § 2 '

(1) TR (2 TR

(3) TeEe @ ¥

(X1)-40056
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714 in octal is ............... in decimal,

(1) 460 : (2) 406
3) 560 (4)  S06.
ARAH 714 oo & ... 2

(1) 460 (2) 406
(3) 560 (4)  S506.

1ASE in Hexadecimal is in decimal.

----------------
]

'(1} 6750 . (2) - 7650

(3) s670 (4) S5067..
dsfans f 1ASE we@ . B

(1) 6750 (2) 7650

(3) 5670 : | (4) '5067.

The code that is easier to usc on punched cards is

(1} ASCH (2) EBCDIC

(3) Excess-3 (4) BCD.

U FE F IR AP arart § few o 1 3vam fem w awar 3 2

(1) ASCII. (2) EBCDIC
(3) Excess-3 _ (4) BCD.

A nibble is a group of ................. bits.

1y 2 2 4

3 8 - {4) 16.

1 1 SO faci =1 uF Jw %)

(1) 2 @ 4

(3) 8 (4) 16

6 of 16
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16. The full form of USB is
(1) Universal Size Bus (2) Universal Serial Bus
(3}  Unique Size Bus (4)  Nonc of these.

USB & 0l ¥9 & _
(1) gHade 95 29 2) e fafae aq
(3) g aRS E" (4) T & S T

17. PCI stands for
(1)  Peripheral Component Intcrconnect
(2) Pe;iphcral Computer Internet
(3) Processor Computer Interconnect

(4) Processor Cable Interconnect.
PCI %1 IUT §9 & '

(1)  Peripheral Component Interconncct
(2) Peripheral Computer Internet
(3)  Processor Computer Interconnect
(4) Processor Cable Interconnect.

'18. Which memory device is generally made of semiconductors ?

(1) RAM ' . (2) Harddisk
(3) Floppy disk (4) CD.

= A fsarE® Fmraaar e A A A € ?

(1) RAM 2 s fewh
(@) v fewp (4) CD.

Bcience/Commerce

19; Which of the following is designed to control the operations of a

computer ?

(1) Application Softwérc - (2) ~ System Softx;.rare

(3)  Utility Software {4) User.

(X1)-40056
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ﬁv?ﬁiiﬁﬂﬁﬁaﬁﬁmwmaqur%Wﬁﬁ$ﬁ%ﬁﬁﬁﬁﬁaﬂﬁa;ﬁmé:?.

(1) uRerer wieedm () Teem dwER
@) gfefofe dwedw ; @) TI
20: Assembler is used as a translator for |
(1} Low level language | (2)  High Level Language
(3) COBOL - 4) C.
TS BT IGNT L ¥F gl % 9 § e &1
(1) o det g (2) T e ot
(3) CoBOL | 4 C.
21. Object oriented programming ecmploys .................. programming
approach. _ )
(1) " Top-down - (2) Bottom-up
(3) Procedural (4) All of these.
e Sifdee wifE . W 37T S I9ERT S e B
(1) T9-TrEA (2) Hew-39
@ vifgsge - (4) T ¥ |
22. In CPP, cin and cout are the predefined stream
(1)  operators . (2) functions
(3) datatype (4)  objects.
CPP ¥ cin 91 cout fg_?‘l qresfee R, :t'él
(1) AR : (2) FwE
(3) ZRIIRY : (4) TR
23. Classcs in CPP are | '
(1) dc1.-1ve'd data types (2) . userdefined data types
(3) built-in data types . (4) all of these.
(X1)-40056
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CPP H =1 (classes) 3

W wemdmaw @) o R e 7Re
3) F=-FTITa:m I ™ ¥ 1l
24, In CPP, members of a class are ...... by_dcfault.

(1) Pyblic _ (2)  Private

(3)  Protected (4)  Static.

CPP ¥ UF 1 ¥ TIE FEEET BRI ovvnee g
() HeEs -_ (2) TR

(@) WRRs ) @) wfw

nS. What type of structure is the following 7

(1) sequence | - (2) casc’

(3) repetition - (4)  process.

ey for TR Y T R 2

) feRw @ %W
g Fffem . (4] - EE

((x1)-40056]. - ' . 9 of 16
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26. Thc binary system uses powers of
(1) =2 _(23 4 !
3) 8 _ 4 16
fesmad uefy ... w1 7 T BT E
1) 2 @ 4
(3) 8 (4) 16.

27. Which. part intcrprcis beg"am instructions ~ and  initiate  control

operalions ? )
(1) [nput (2) Storage Unit
(3)  Logic Unit
T 9 g BRw o fHaee e € oawn s Geareey #omea

(4) Control Unit.

FXATE ?
(1) T (2) WRA
(3) ifve @ . 4) TR TEEI

28. A computer program that converts assembly language to machine
" language is

(1) Compiler (2) Assembler

(3) Interpreter . @) Comparator. ~
wwmwﬁqﬁwﬁﬁﬂwﬁnﬁqﬁ@aﬁﬁﬁaﬁam%,%
(1) FHER (2) TEEER

@) FEORX (4)  =ERET)

29. The section of the CPU that selects, interprets and sces to the exccutio-n"
of program instructions is .
(1)~ Memory | (2)  Register Unit
(3) Control Unit ' (4) ALU.

| (X1)-40056 | : 10 of 1 6
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crfhwagm:ﬁqw,ﬁémmmﬂﬁmﬁhﬁwﬁwmi
HEATT & |
(1) A= 2y IR m
'(3)  wE TR - (@) AL‘L.J.

Example of open source operating system is

(1) UNIX (2) LINUX

I3i  WINDOWS :  (4) both (1) and (2j.

et ﬁ’l’ﬂ qfitTer Sonel @ IFET §

(1) UNIX (2) LINUX

(3) WINDOWS _ @) (1) 3R (2) 3N

Main memory of computer system is known to be
(1) Non-volatile | (2} Volatile

(3) Reserved - (4)  Restricted.

Wmaﬁg@ﬂnﬁﬁmm%

(1) AR-EICTRE (2) SRR

3) oS \ @4 TERs)

Co-ntroller of computer system traﬁsfcrs data fr'om devicé to

(1) Bulffers _ . (2) Cache
(3 Registers © (4) Indexes.

e woTel H T i &1 AR FETRE A v, T HTE
Sy FR A @ |
@ TR : (4) TSN

[xx)-40056] ' - o - 11 of 16
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’ appropriatc¢ register
33. To start an 1/Q operation devic

¢ driver loads

into
(1) Memory (2)  Sccondary SLOrage
(3)  Device Controller (4)  Arrays. _
: . 3 ARET BT eeverervreoann, T o
ml/oammﬁaﬂmﬁﬁ'bmmﬂ Rl _ ars.
FLAT & |
(1) 3= (2)  HBUST TR
3) Feamw weR C@) T .
34. In computers, subtraction is gencrally carricd out by
(1) Q'g Cgmp]cmcn[ )_2-)" 10's Cnmplcmcnt
(3) 1’s Complcment (4)  2’s Complement.
SEel H geH H & fohar s €
(1) 9% TY g1 (2) 10&F ¥5= T
/[31" 1_%141111?53111 ([4) 2% ITF g
35. Floating point representation is used to store
(1) Boolcan values’ (2) whole numbers
(3) real integers (4) integers.
FAIET GArse RASYA &1 3ENT ... H WR &1 J Fndn swen &1
(1) e == (2) QUi wem
(3) IRarEE W (@) 9ol dEEn
36. The technology used in manufacture of second generation computers is
| Vacuum Tube . (2)  Transistors
3. ICs (4} None of these.
(XI)-40056
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Wﬁaﬁ%w%ﬁﬂmﬁwaﬁhﬂ%

(1) e B T
(3) 1C (4) TR W
37. The pointing dm;'icc; am:}ng.-tl:llc following is

(1) Keyboard (2) Barcodc reader
(3) oystick (4) Touch screen.
ey § @R feaga &
(1) S (2) aAEHTE A
(3) i fes - (@) <A TR

" 38. The time taken lo initiate a transfer is called _
(1} Seeck time (2) Rotational delay
(3) ' Data transfer rate (4) Disk latency.

MﬁWﬁwmmﬁ%mmme%

(1) Ta=w g o 2) TR T8
(3) oW1 TEH T 4) fewm s

will be the outpul of the following condition stlatement

39, What

A = 10>10?100:200 ?
(1) 10 (2) 100

. k (%) none of thesc. '
(3) 200 | 7o
ﬁm’%ﬁhﬂ%ﬁmﬁmﬁwwm?l P
A = 10>10?7100:200 ? ' '
a) 10 . (2) 100
(3] 200 (@) T A

_f_;"_|:lxl}-40056 : .. _ 13 of 16



XSC-CMS-{Opt.}-8C @
Science/Commerce

40.

Full form of UPS is

* ly v
' iform Power Supp
(1} Uninterrupted Power Supply (2)  Unifo .

: Power Step.
/(31/ Uninterrupted Power Step (4)  Uniform

UPS &7 qut ¥y ¢

power Supply
1) Uninterrupted Power Supply (2)  Uniform :

: Power-Step.
(3)  Uninterrupted Power Step (4)  Uniform

‘41,  Which among the following js Volatile ?
() RAM ~[2r" ROM
(3} PROM (4) EPROM.
fFr= o @ o s ¥ 2
(1) RAM (2) ROM
(3) PROM R (4} EPROM. |
42, 'I-‘hc 8-bit encoding format used to store data in a computer is
(1) ASscn (2) EBCDIC
(3] ANCI (4) usclL.
FIGR H S F qUSHT F [T 9w 8-bit TAHINST BT ¥ .
(1) Ascu S . ,(2)/ EBCDIC
(3) ANCI ' (4) USCIL.
43. Which of the following correctly declares an array ? ‘
(1) int array|[10]; (2) array array[10];
(3) array{10}; o (4) int arréy;
fr 3 ¥ FF F @ ) owd v QS ward 2 |
- (1)  int array[10];- ' - (2)  array array[10});
" (3) array{10}; (4)  intarray;’ |
44. " Which data type is used to represent the absence of parameters P
' (1) int | ' (2)  short
(:}/‘void (4) foat,
(X1)-40056
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%mﬁmmmmﬂ’mm%?

uraE @) srafuta @t S
(1} int {2)  short
(3)  void _ (4) float.
45.  Where does the exccution of the program start ?
(1) User-defined function (2) Main function
(3) Void function (4)  None of thesc.
el el e @1 FeIRT I S & 2
() TR qRraTiEd HaeH (2 T e
() TR

(3) IS HaH

Which is more cffcctive while calling the functions ?

46.
(1)  Call by value 427 Call by reference h
(3)  Call by pointer (4)  Nonc of these.
aviET 1 e TG TOG B TR A9 € 2
(1) &g §RT HTeA (2) IS FRT Hied
(3) @R FRI HIET @) | PR
47. What will happen when we use void in argument passing ?

(1) It will not return value to its caller

(2) It will return value to its caller

3) May or may not return any value to its caller

(4)  Nonc of these.

Wﬁmmﬁm&mﬁnﬂwm%mwﬁm% 2
T v e deg et

(2) aamﬂmmaalﬁzqm

(3) wwﬁmwéﬁiﬁﬁmm%mﬁaﬁmma

T § @IS 7@ |

(4)

15 of 16
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48. Abyteisagroupof............... bits
(1) 2 : (2 4
3) 8 o ' (4) 16.
LA faet =1 v T5E
(1 2 (2) -4
3, 8 4 16.
@ s . @ e
49.  What is the range of the floating point numbers ?
(1) -3'4E + 38 10 +3-4E + 38 (2) -34E + 38to +3-4E+ 34

(3) -3-4E + 38to +3-4E + 36 (4) -34E + 38 to +3-4E + 373
Tt Erde HEmai w vy | & 2
(1) —<3-4E + 38 § +3'4E + 38 (2) -3-4E + 38 € +3-4E + 34

(3) -3-4E + 38W +3-4E + 36 (4) -3-4E + 38 § +3-4E + 32

S0. Which of the following is not a process state ?

(1) Terminated ' (2) Running
(3) Blocked (4) Execution.
et | § @ U shear Ruf 58 & 2 |
(1) s @ Tm
(3) =mEg - (4)  uEHArERgEA|
{X1)-40056 16 of 16




